Phonology Winter 2012
Application 2

Ch 6 Ex 1 – Lango again

Modification to the directions:

a)  List the different morphemes for the possessive suffixes (no need to write rules).  Next to the morphemes, indicate the morphological features (e.g., like [+/-plural], [1person], [2person], etc).  Treat them like phonological features.

b)  Don’t worry about the morphological stuff.  Think of the underlying form that the phonological rules will operate on as the stem + the suffix (the ones you discovered in (a) above).  Then figure out what 2 phonological rules you need to identify to explain the data.  Compare the above answers with the new data and figure out which forms are alternating and why.   Also be sure to explain any changes in the forms of the stems.
c)  Do this one as it says.

d)  Do this one as it says.  We haven’t done derivations yet, so this is where we try it out.  Have a column for one form and another for the other.  Then, on the left, have a row that indicates UR, one for each phonological rule you want to apply, then one for the surface form.

e)  Do this one as it says.
f) Just list the rules you’ve created for this problem so far, and use the rule for the best analysis from Application 1.  Also, when we think of the 2 possible analyses from Application 1, do these new data help support one analysis over the other (remember the issue was whether the geminate and singleton stop/affricate form one phoneme, or whether the continuant and singleton stop form one phoneme).  
g)  Do this one as it says.
h)  Follow the directions here – should be like (d) above but with more detail (more rules and more forms to go through the derivation).
